

Ex) Solve: $\frac{dy}{dx} + x \sin 2y = x^3 \cos^2 y$

Solⁿ: Dividing by $\cos^2 y$,

$$\sec^2 y \frac{dy}{dx} + \frac{x \sin 2y}{\cos^2 y} = x^3$$

$$\Rightarrow \sec^2 y \frac{dy}{dx} + \frac{2x \cos y \sin y}{\cos^2 y} = x^3$$

$$\Rightarrow \sec^2 y \frac{dy}{dx} + 2x \tan y = x^3 \quad \dots (1)$$

Put $\tan y = v$

$$\Rightarrow \frac{dv}{dx} = \sec^2 y \frac{dy}{dx}$$

$$\therefore (1) \Rightarrow \frac{dv}{dx} + 2xv = x^3$$

Here I.F = $e^{\int 2x dx} = e^{x^2}$

Hence the reqd. solⁿ is

$$v \cdot e^{x^2} = \int x^3 \cdot e^{x^2} dx + C$$

$$= \frac{1}{2} \int t e^t dt + C$$

$$= \frac{1}{2} \left[t e^t - \int 1 \cdot e^t dt \right] + C$$

$$= \frac{1}{2} (t e^t - e^t) + C$$

$$\Rightarrow \tan y \cdot e^{x^2} = \frac{1}{2} (x^2 - 1) e^{x^2} + C$$

$$\Rightarrow \tan y = \frac{1}{2} (x^2 - 1) + C e^{-x^2}$$

==

Put $x^2 = t$
 $\Rightarrow 2x dx = dt$

Ex) Solve: $\frac{dy}{dx} = e^{x-y} (e^x - e^y)$

S.I.

Given eqⁿ is

$$\frac{dy}{dx} = e^{2x} \cdot e^{-y} - e^x$$

$$\Rightarrow \frac{dy}{dx} + e^x = e^{2x} \cdot e^{-y}$$

$$\Rightarrow e^y \frac{dy}{dx} + e^x \cdot e^y = e^{2x} \quad \dots (1)$$

Put $e^y = v$

$$\Rightarrow \frac{dv}{dx} = e^y \frac{dy}{dx}$$

$$\therefore (1) \Rightarrow \frac{dv}{dx} + e^x \cdot v = e^{2x}$$

Here I.F. = $e^{\int e^x dx} = e^{e^x}$

Hence the reqd. solⁿ is

$$v \cdot e^{e^x} = \int e^{2x} \cdot e^{e^x} dx + c$$

$$= \int t e^t dt + c$$

$$= t e^t - \int 1 \cdot e^t dt + c$$

$$= t e^t - e^t + c$$

$$= e^t (t-1) + c$$

$$\Rightarrow e^y e^{e^x} = e^{e^x} (e^x - 1) + c$$

$$\Rightarrow e^y = (e^x - 1) + c e^{-e^x}$$

//